AR N LN
vov—bbrFry b oY —F
S0 e ME . RATUVLAR
SSR 1) —X FEIE .
mEE% A7 FEEAAT
V—'—C—j {D & .
7
7 .
/ | %
B
A ~—A—
O—Ly b-Fv b ME2A4T
A B c D TARE
= & 374 AN =
i *Of | BERE | a0 [ v05/-0 | +0.3 |+0.3/-0]+0.1/=0
SSR-SM325 | M3x0.5 | 05~20 | 5 00 9. 00 6.00 | 0.50 | 5.00
SSR-SWA25 | MAx0.7 | 05~25 | 600 1700 | 7.00 | 0.50 | 6.00
SSR—SW525 | M5x0.8 | 0.5~3.0 | 7.00 1200 | 800 | 0.50 | 7.00
SSR—SM625 | M6x1.0 | 0.7~3.0 | 9.00 1400 | 1000 | 0.50 | 9.00
SSR—SM825 | M8x1.25 | 1.0~3.0 | 11.00 | 16.00 | 12.00 | 0.50 | 11.00
SSR—SM1025 | M10x1.50 | 1.0~3.5 | 13.00 | 19.00 | 14.20 | 0.80 | 13.00
O—Ly bk-Fyb FEER2A4T
A B c D TARE
= B 374 AN =
e FOR | BERE |, +0.3 | +0.3 |+0/-0.5| =0 1
SSR-LM325 | M3x0.5 | 0.3~20 | 5 00 9. 00 8.00 | 0.80 | 5.00
SSR-LMA25 | MAx0.7 | 0.3~25 | 600 1700 | 900 | 1.00 | 6.00
SSR-LMA35 | MAx0.7 | 2.5~4.0 | 600 1250 | 9.00 | 1.00 | 6.00
SSR-LM525 | M5x0.8 | 0.3~3.0 | 7.00 1200 | 1000 | 1.00 | 7.00
SSR-LM535 | M5x0.8 | 3.0~4.5 | 7.00 13.50 | 10.00 | 1.00 | 7.00
SSR-LM625 | M6x1.0 | 05~3.0 | 900 1400 | 1200 | 1.50 | 9.00
SSR-LM640 | M6x1.0 | 3.0~50 | 9 00 16.00 | 12.00 | 1.50 | 9.00
SSR-LM825 | M8x1.25 | 0.5~3.0 | 11.00 | 16.00 | 1500 | 1.50 | 11.00
SSR-LM840 | M8x1.25 | 3.0~55 | 11.00 | 18.50 | 1500 | 1.50 | 11.00
SSR-LM1025 | M10x1.50 | 1.0~3.5 | 13.00 | 19.00 | 17.00 | 2.00 | 13.00
EREStIEERE I 7 X+ — http://www. fastening. jp

T 374-0073%% I R EE#A h & BT 10901

TEL 0276-72-17450

FAX 0276-60-5284




